d D>
peice
\ T/

www.pelcoinc.com

EDMOND. OK 73013 This drawing is for reference only. It is the
405-340-3434 property of Pelco and is not to be used in ASS E M B LY S H E ET

PELCO PRODUCTS, INC. FAX: 405-340-3435 whole or in part without Pelco's permission.
= TITLE: PART NO.:
Cable retainer Assy, w/ Conductor Guide,
for 6" Foundation Anchor, Steel, Galv SP-6200-GLV
ITEM |PART NUMBER DESCRIPTION QTY
1 |SP-6242-GLV |Weldment, Conductor Guide, for 6" Cable Retainer Assy, Steel, Galv 1
3 |SP-6199-4 Pad, Cable Retainer, 3/16" Thick, 90 Duro, Red Urethane 4
2 |SP-6199-3 Bar, Cable Retainer Assembly, Steel 2
4 |FS-2016-SS Bolt, Hex Hd Tap, 5/16"-18 x 2-1/4" , Type 304 Stainless 4
5 [SP-6199-GLV |Weldment, Cable Retainer Assembly, for 6" Foundation Anchor, Steel, Galv 1
6 |[0-3140 Label, 1" x 2", Cable Retainer 1
7 |FS-4101-SS Washer, Flat, 5/16" x .750" OD, Type 304 Stainless 8
8 |FS-4201-SS Lock Washer, Split, 5/16", Type 304 Stainless 4
9 |FS-1001-SS Nut, Hex 5/16"-18, Type 304 Stainless 4
brawN: Kennith.Georgepare2/17/2009 ICHK,D:RWOODS DATE12/17/2009| Rev: H-4/01/10-KG RE ko Phil P paTE: 4172010 | SHEeT 1 oF 1




